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Topic:- Physics

1) The energy stored in a coil of self-inductors of 50 mH, carrying a steady current of 2A is: /
2A 3 ufadf uRT a1fgd H3A arell, 50 mH W-URAT arehl T Fseft & Gudla ot 8

1.1]J

2.10J

3.5J

4.0.17J

Correct Answer :-

2) A motor car is moving with a speed of 20m/s on a circular track of radius100m. If its

tangential acceleration is 3m/s?, its resultant acceleration is : /

TS Hle? B, 100 Hex F 3591 916 TP TR UY W 20 He/AHS FI I A SIS
8! 21 afe gt WAy @Rl 3 Hiew/Ads? g a) ulRumHl @=ur ghm:

1. 4 m/s?
2.3.5 m/s?
3.5 m/s?
4.3 m/s?

Correct Answer :-

e 5m/s?



3) The maximum and minimum magnitudes of the resultant of two given vectors are 17 and
7 units respectively. If these two vectors are at right angles to each other, the magnitude of
their resultant is: /

3l feu e daet & ufvomedt & siftreran iR =geraw aRaTer wHRT: 17 3R 7 sHI3ar |
gfe d I daer UH-goR & AHSDIV | &, A S+ URUITH &1 gRHTT gl §:

1. 16
2. 14
3.12
4. 13

Correct Answer :-

e 13

4) The Kkinetic energy of a body becomes four times its initial value. The new momentum will
be:/

o e 1 fae o, 39 RIS 99 I =R 1 81 STt 8 | 791 "av g
1. Half of its initial value / Eﬂa? URINS A BT 31T

2. Same as the initial value / TRIH® A & JHH

3. Four times the initial value / FRI%eb HIF BT AR AT

4. Twice of its the initial value / W URfYS A &1 &l RIGII

Correct Answer :-

. Twice of its the initial value / $9% URIY® T &1 &l AT

5) The Young’s modulus of the material of a wire is 2 x 101°N/m2. If the elongation strain is

1%, then the energy stored in the wire per unit volume in J/m?3 is ¢/

TP dR & AR &1 37 H1Uie 2 x 1019N/m?2 31 afe 91 g3 f&ama (R/) 1% & @ I/m3 d ufa
IPTS A aR § Fufed el = &

1. 10°
2.108
3.2x 108

4.0.5x 100



Correct Answer :-
. 10°

6) The torque acting on a body is the rotational analogue of : /
TS 1/ W) @ arar gargef 1 guif TraiT 3|
1. Mass of the body / 1T &1 goqd

2. Linear kinetic energy of the body / er o1 Ydig Tfast St
3. Linear velocity of the body / A o1 3 T a1

4. Force in linear motion / Y410 TIfd # 91

Correct Answer :-

« Force in linear motion / Y& 7Ifd A 9

7) The initial and final temperatures of water bath are (18 £ 0.5) °C and (40 + 0.3) °C
respectively. What is the rise in temperature of bath? /

e T & URIHS 3R SifaH arad= HH: (18 + 0.5) °C 3R (40 + 0.3) °C &1 AP
aHE ¥ gfg | e

1. (58 +0.2) °C
2. (58 £ 0.5) °C
3.(22+0.2) °C

4.(22+0.8) °C

Correct Answer :-

.« (22+0.8)°C

8) The dimensions of rigidity modulus are: /
TedT AIUI® & STATH &:

1L.MLIT?

2. M'L2T12

3. M'LOT2

4. M'L2T

Correct Answer :-



9) The area under force-time graph gives: /

IA-JHY UTP & 3fdiid & a1 8-
1. Impulse / 1A
2. Momentum / ﬂaT[

3. Momentum / TaT

4. Displacement / [aRITTA

Correct Answer :-

« Impulse / 3T

10) A plate has a length 5 + 0.1 cm and breadth 2 + 0.01cm. Then the area of the plate is: /

g:"lﬁzaﬂmﬁs + 0.1 Q. 3R ANSTE 2 + 0.01 VL. ? @ W BT ATBd A=

1. (10 £ 0.025)cm?
2. (10 £ 0.01)cm?
3. (10 + 0.25)cm?
4. (10 £ 0.1)cm?
Correct Answer :-
« (10 £0.25)cm?

11) A radioactive nucleus emits a beta particle. The parent and daughter nuclei are: /

%@mﬁﬁwwﬁawwﬁam%l o9& (@¥e) ok Tafa (sfex) A1
1. Isotopes / THRITHS (ATZHICIE)

2. isomers / HHIGUd (\}ﬂmﬁﬁ)
3. Isotones / THICIHD (3SHICI)
4. Isobars /| FHHIRS (3MITETR)

Correct Answer :-

« Isobars / GAHIRS (M)



12) If C is the capacitance and V is the potential of a capacitor, the dimensional formula for
% CV2is :/

gfe ue Geuria @) aifvar ¢ sk fava v 8, at v cv?2 &1 it 3 8:
1. ML2T2

2. ML2T"!

3. ML2T2A"!

4. ML™2T2

Correct Answer :-

« ML?T?

13) In the case of insulators, as the temperature decreases resistivity .

faggaRieht @gaier) & Ta ®, 99-9 aIu S gidT 8, UfeRiudar |
1. decreases / BH g ST §

2. remains constant / FIR & §

3. become zero / I B S &

4. increases / §Gd1 §

Correct Answer :-

« increases / aa‘cﬁ %

14) Electromagnetic waves can be produced by: /

faggagmeg a &t ERT SaTfed forar o awar g1
1. An accelerating electric charge / Tdh oiRd ﬁ?ﬂﬁ 31

2. Any vibrating body / aﬁ‘s‘ Hiud e

3. A stationery electric charge / U RR ﬁ_c{ﬂ?l 3T

4. A magnet at rest / fASTHIGRIT & TH Jad

Correct Answer :-

« An accelerating electric charge / U @R ﬁ?ﬁﬁ 3T



15) When the angle of incidence on the surface of a transparent material is 60°, the reflected
light is completely polarized. The velocity of the refracted ray inside the material is: /

oiq it et uerd @ Tdg WR Tua ST 60° a1 B, @ WRiafda yem=r ¥ @R |
sydterd gt orar 31 uerd & fiaR sruafda frur s1aw 8:

1. 3/N2 x 108 m/s
2.3x 108 m/s
3.V3 x 108 m/s
4.0.5x 108 m/s

Correct Answer :-

e V3x108m/s

16) A car of mass 1000 kg is accelerated uniformly from rest to a velocity of 54 km/h in 5s.
The average power of the engine during this period in watts is : (neglect friction)/

1000 fHUT AT F) TP R &1 5 AbS | 54 fHHl/Her & 77 farE A voaH= =u A
af¥d frar SITar 8 1 59 3af & SR o9 Bt 3Nd X a1e | 8: (Fur 31 I HY)

1. 1000
2. 9000
3.2250
4.22500

Correct Answer :-

« 22500

17) A thin wire of length 0.25m and mass 4 milligram remains suspended in air between the
pole pieces of magnet. If the wire is carrying a current 0.4 A and is making an angle 900 with

the magnetic field then, the strength of magnetic field is: (take g = 10m/s?) /

a9 & YA ch S & drd gaT | 0.25 Hex dq1g 3R 4 FreRmT geaw aren e uaen
IR TP Igal 81 TfS TR 0.4 A B URT BT I8 B THdT 8 3R JIB 1T &F & IIY BT

900 9T T8T 8, T a1 &F B AR §: (¢ = 10 A2 )
1.4x 10% tesla / 4 x 1074 ST
2.4%x 107 tesla /4 x 1073 ST

3.4x 107 tesla / 4 x 1076 &l



4.4x 1073 tesla / 4 x 1073 T
Correct Answer :-

« 4x10%tesla/ 4 x 104 S

18) A particle is dropped from a height ‘H’. The de-Broglie wavelength of the particle is
proportional to: /

TS "H’ T TP ST FIRTAT ST 8 | U1 BT S-aell aevreed 39 Squfa 8:
1. H-1/2
2. HO

3. H1/2

4. H

Correct Answer :-
. 12

19) A black body has maximum wavelength ‘A’ at 2000K. Its corresponding wave length at
3000K will be: /

TP HTa P BT 2000K TR HfUFaH aAGet <0 a1 81 3000K TR 3P 3T
aaredd gift:

1.203
2.30\/2
3. 81/16A

4. 16/81A

Correct Answer :-

« 203

20) The relation between the time of flight ‘T¢’ of a projectile and the time of reach the
momentum height ‘t,,"is: /

TP Y& & IS JHY ‘TF 3R AT SHaTg a9 g & U ', & a1 &1 J9Y 3:
1 Te=ty/\2

2. Te=ty /2



3. sz 2tm
4, Tf = tm
Correct Answer :-

o Tr=2t,

21) If the phase difference between two sound waves of wavelength ‘A’ each is 60° , then the
corresponding path difference is :/

T 1 a0 e B &Y @ a & g Feriar 60° §, 9 TETIR TUiR 8
)
2.2/6
3. /4

4. 6/A

Correct Answer :-

. M6

22) If a body oscillates with an angular frequency ‘w’ by a constant driving force, then the
oscillations are called ./

afe TP Mo FRE e 90 (ST B & gRT Sy Mg ‘e’ & 1Y Sia-d &l 8, al
Sl Y HeT ST 2

1. damped oscillations / 3qufad gla
2. free oscillations / ¥add A

3. coupled oscillations / gﬁil?f FNE]

4. forced oscillations / aﬂw NG|

Correct Answer :-

« forced oscillations / W CINE]

23) Two capacitors, 4puF and 6pF, connected in parallel are charged by a 100V battery. The
energy stored in the capacitor is: /

AR # 98 4pF 3R 6pF aTd & FUTRAY P T 100V 9 GRT MR forar Sivan
%Iquﬁaﬁwﬁawﬁ%

1.5.0x 1027

2.12x102]J



3.127
4.24x102]

Correct Answer :-

24)  The equivalent resistance between points A and D of the network shown in figure is: /

e & fgmme 7w sleasd & fdgsl AR D& & gages ufar &

100 2000

A, AAA B nana c
%mn
R .
o 400 E 800 F
1. 50Q
2. 83.33Q
3. 140Q
4. 63.33Q

Correct Answer :-

« 83.33Q

25) When number of turns per unit length of a solenoid is doubled, its self inductance becomes:

/

o9 U URATRIGT 91 Ui S1s daTs § gaTa) 31 wen St 8 ot 8, Y sueT -

1. 4 times / 4 7l
2. 8 times / 8 YT

3. Same / HHH

4. Doubled / 3-|:!!'_'||

Correct Answer :-

4 times /4 T[T

26) When a body is taken from the poles to the equator on the earth, its weight: /

wiq it fifs o1 godt W Yol & YHea 31 9 o S 1T 8, df ST aoi:



1. Increases / dedl %I
2. Increases at south pole decreases at north pole / af&oft Yd W dedl %, S g U Ycdl %I
3. Decreases / hH Epf SITdT % |

4. Remain the same / JHIH ¥adl %I

Correct Answer :-

o Decreases / hH E?f SfTdl %’ I

27) When the inputs of the two input logic gate are 0 and 0, the output is 1. When the inputs are
1 and 0, the output is 0. The logic gate usedis: /

9 §I $TYC QTP e & §1Ye 0 3R 0 Id §, A1 3TSeYe 1 THaT g1 ST $9YC 1 3R 0
BT ®, Al 3M3ITYe 0 BT 2 | Uga difore ¢ &:

1. NOR gate / NOR ¢
2. NAND gate / NAND Ti©
3. OR gate / OR TIC

4. AND gate / AND 7@

Correct Answer :-

« NOR gate / NOR ¢

28) A wheel has moment of inertia 5 x 103 kg m? and is making 20 revolutions per second. The
magnitude of torque needed to stop it in 10s is:/

TP R BT JTScaryul 5 x 1073 kg m2 B 3R T8 ufd Gbs 20 TfspHur a1 31 10 I&s & 39
B Y STa=ad FaTygol HT ufaror fA=

1.471x 102 Nm

. 4mx 102 Nm

N

3.451x 102 Nm
4.451x 102 Nm

.2mx 102 Nm

(03]

. 2mx 102 Nm

)]

7.2.57x 102 Nm
Correct Answer :-

e 2mx 102 Nm



¢ 2mx 102 Nm

29) The value of acceleration due to gravity on the surface of earth is 9.8m/s2. 'R’ is the radius
of earth. The value of acceleration due to gravity at a high ‘R’ and at a depth 'R’ from the surface
of the earth respectively are:/

it B Tag W ¥ b R @07 BT UM, 9.8m/s2 B 1 ‘R’ Yl Bt Brwan 81 gadt
Iag I 3 ‘R’ TR TS P HIRUT @RUT BT A 3R @RS ‘R’ U &RUT BT W HHT: &

1. 2.45 m/s?, 9.8 m/s?

2.2.45 rn/sz, Z€eTo
3. Zero, 9.8 m/s?
4. Zero, 4.9 m/s?

Correct Answer :-

e 245 m/sz, ZEro

30) The angle of minimum deviation for an equilateral prism of refractive index 1.414 is: /
AUTAD AP 1.414 1A TP GHYS oA & g g=au faaer s +1vr 8:

1. 60°

2.15°

3.45°

4. 30°

Correct Answer :-

e 30°

Topic:- Chemistry

1) Which among the following is NOT a disaccharide? /
e § 9 &9 T sEaPgs T8 82
1. Lactose / g™ SN (ﬁ?ﬁﬁﬂ)

2. Maltose / Td R (ATACI)

3. Sucrose /‘s@m (ﬁﬁﬂ)

4. Dextrose / SI& TR (SRC)




Correct Answer :-

- Dextrose / T1&f Y] (%d%g\l%i)

2) The energy of an electron in a hydrogen atom in the ground state is 13.6 eV. Which one of
the following represents the energy in the first excited state? /

Iy a1 & U gT9S oI URHTY] § U9 Saae i1 31 Sl 13.6 ev ¥ | Prfif@a & @
DI YYH IoTd AT A Fell T UfafAiired H3d1 82

1.-13.6 eV
2.-6.8eV
3.-3.4eV
4. +6.8 eV

Correct Answer :-

e -3.4eV

3) Which of the following structural changes will NOT affect van’t Hoff factor of a dilute
solution? /

Frafafad 4 @ $19-91 Ia-Tas ufkads e aqd faaaq & ar< g1 UN® &)
T g Hm?

1. Association of solute particles in the solution /ﬁ?l'q:f H faog o WQ@W
2. Isomerization of solute / oo o1 gHTagdteBR
3. Micellization of solute / faoT o1 et

4, Dissociation of solute particles / facra ol &1 fage

Correct Answer :-

 Isomerization of solute / IEREEIREICREIERU

4) The conjugate base of hydrazoic acid is: /
TISSISIIS® 3 BT WY &R ©:

1. Ny~

2.N73

3. N3



4. HNy'

Correct Answer :-

5) The loss of one neutron is equivalent to: /

T YT B g1 & TG il g
1. Increase of one proton / Uch e ot ?{@

2. None of these / SWRIFTH I Ob\lir qﬁ

3. Both loss of one g-particle and increase of one proton / T g - U Bi g 3R TP
Ui @ gfg aFl
4. Loss of one p-particle / T g - & I &IA

Correct Answer :-

. Loss of one p-particle / T g - U &I gl

6) The rate constant for a first order reaction is 60 per second. How much time will it take to

6th value? /

uwﬁﬁﬁu%m%ﬁqa%aowﬁrﬁﬁél PR 1 URMIF Figar HI
mumanﬁaﬁazﬁﬁmmwaﬂm?

1. 7x1072s

reduce the initial concentration of the reactant to it 1/1

2.4.6x1072s

3.8.6 x1072s
4.5x103s
Correct Answer :-

e 4.6x1072s

7) What is the total number of tetrahedral voids in FCC structure?/
THARIT a1 A aqupas g sl &) g S | g2

1.4

2.8

3.6



4. 12

Correct Answer :-

8) What is the equivalent mass of an oxidising agent, KMnOQy, in a strongly alkaline

medium? /

AoIgd &R 1 H T TP SATRIBRU $RB, KMnO,,, BT T STHT 71 32
1.52.67

2.39.5

3. 158

4.31.6

Correct Answer :-

e 158

9) What is the formal charge on chlorine in perchloric acid? /
WREAIND 3T § TR IR Fawfes Sirar (wida STa=n) 41 32
1.-1

2. +1

3. 42

4, +3

Correct Answer :-

10) What is the concentration of OH ! in 0.1 M solution of NH4OH having Kb =2 x10"~ 524
Kb = 2 x10 ~5 aTdl NH40H ¥ 0.1 M fa@aa & OH -1 &Y Jigar w1 8?2

1.2.68 x 10~ 3 molL™!

2.2.68 x 10° molL™!

3.1.41 x 10~ 3 molL"!

4.1.41 x 103 molL!



Correct Answer :-

e 1.41x10 3molL"!

11) Sulphur hexafluoride exhibits hybridization and has shape.
/

AEHR TRIFARISS AP0 YeRIa PRAT 8 IR gWPT____ bR glar g
1. dsp? , square planar / dsp?; i grddg

2. spd? , octahedral / sp>d?; APHADI

3. d?sp3 , octahedral / d?sp3; 3YHADT

4. sp3d , trigonal bipyramidal / sp3d; iy fgftrifirs

Correct Answer :-

. sp°d?, octahedral / sp3d%; IFHADY

12) A radioactive element gets spilled over the floor of a room. Its half-life period is 30 days.
If the initial concentration is 10 times the permissible value, then after how many days will it
be safe to enter the room? /

TS STNIHT T Tp FHY & BRI IR el 1T 8 | TDT 31Ty o1 30 fe1 81 afg
gjnrwmaﬂﬁunﬂwmw%,aﬁmﬁﬁﬁumm%ﬁmmw

1. 300 days / 300 faq
2. 100 days / 100 f&1
3. 1000 days / 1000 &4

4.10 days / 10 fa

Correct Answer :-

. 100 days / 100 f&=

13) A given vitamin “X” is called an “Appetite vitamin”. It is water soluble and helps in
carbohydrate metabolism. Its deficiency causes Beri-beri. What is its chemical name? /

et few e fyerfm "X &t e » g ferfiq ar gierge faefim se1war g1 as
Ut # A= a1 8 SR PIalgisec & 9aTay § Heg $Idl ¢ | SUS! HHl at-adt
BT HRUI T ¢ | THDT IMAD ATH T 82

1. Cyanocobalamin / B IREIEACNIEIE]



2. Thiamine / YTIHT
3. Pyridoxine / URRISIaRH
4. Riboflavin / RETifaA

Correct Answer :-

« Thiamine / YTAEA

14) NaCl crystals appear yellow due to: /

NaClfped_ FpRuda W& fdars ¢d €1
1. Schottky defect / lcdt E(Pl'q

2. F-centres / F — ¥l (TB-dHgl)

3. Frenkel defect / Thohdl Q1Y

4. Interstitials / SR

Correct Answer :-

. F-centres / F — Hcd (Q'qia'?_s'?l)

15) Identify the compound in which sulphur does NOT obey the Octet rule. /
9 AP B! ugar o3 fordad Ty, sifaee fFad &1 e =16t sar g
1. HyS
2. SF,
3. SF,

4.50,

Correct Answer :-

16) Equimolar solutions of different non-volatile and non-ionic solutes in the same solvent
have: /

9 faemas | fafts IR-aroreiter ok IR-emafres facal & waekiy (3@ HeR)
IEGEERRICES
1. Different boiling and different freezing point / s SHuAie iR e fedi®

2. Same boiling point but different freezing point / FHT BHYIH SIERIREARGIE



3. Same boiling point and same freezing point / TH HYIh 3R T fgHidh

4. Same freezing point but different boiling point / JHIH feHi® dfd e Su-i®

Correct Answer :-

« Same boiling point and same freezing point / JHIT HUID 3R gHH e

17) Which one of the following d orbitals has a different shape but degenerate with the rest
of the d orbitals? /

fFrafafad & A 5T d Fere (3Mifded) BT TS T ATHR BT & AP D! d BB P
1Y THY (SISRT) 82

1.d,,
2. dyy

2 2
3.dy.,

4.d,?

Correct Answer :-

18) Which among the following is an appropriate reagent which is use to convert 1-
phenylpropane to benzoic acid? /

fFrafafee # Q Sugea siftede w19-a1 8 R 1-fpganaq «1 deige sna o
ufvafdd & & fore SuahT foar sirar 82

1. KMnO4/OH"

2. Conc. HySO4 / AT H,SO4

3. Pyridinium chlorochromate / tl]?{h‘%ﬁ'qt[ FARIGIHT
4. Alcoholic KOH / 3{cohIgfeieh KOH

Correct Answer :-

. KMnO4/ OH"

19) Which among the following statements is CORRECT about [Cu (NH3)4]SO4? /
frefafea & J S19-91 $YF [Cu (NH3),1S0, F TR T TE1 872

1. The bond between Cu and NHj is covalent. /



Cu 1R NH; & §id §f€ Hggdleie gidI 5|
2. It is a paramagnetic complex. /
U SIS Ul I1 IREATCH PHuead g
3. On ionization, the complex gives copper ions. /
STAIHRUT TR, DI HIUR & ST ol 5|

4. It has negative ligand. /

T8 BUTHS fervs gid

Correct Answer :-

« It is a paramagnetic complex. /

g TP AHd g1 RTAReS Sruaad 7

20) Which of the following will be the most effective in the coagulation of Al (OH); sol? /
Al (OH); faermq & Whea ¥ fFaffaa o @ &9 9av eiftre gurdt gime?

1. BaCl,

2. Mgz (POy),

3. KCN

4. NaCl

Correct Answer :-

« Mgz (POy),

21) Which of the following substances is weakly attracted in the magnetic field? /

frufafaa 9 @ S-a1 uerd deia &= § gdaar 9 smeffa giar a2
1. CrO,

2. H,0

3. CgHg

4.0,

Correct Answer :-



22) The rate of a reaction doubles when its temperature changes from 300K to 310 K. The
activation energy of such a reaction will be (R=8.314 JK "1 mol1): /

TS AFUTHAT B & SR 81 ATl @ 91 ST dATIHT 300K | 310 K aF ufeafdd gt
SITdT 81 59 avg @1 3fufrar &) Afshaur Swif (R=8.314 IK "1 mol? ) B1:

1. 53.6 KIJmol!
2. 61KJ
3. 58.5 KJmol!

4. 48.6 KImolL

Correct Answer :-
« 53.6 KImol'l

23) The bond dissociation energy of Hy, Cl> and HCI are 110, 52 and 103 kcal/mol
respectively. The enthalpy of formation of HCI gas will be: /

H,, Cl, 3R HCI &1 3¢ faaie=T Self U= 110, 52 3R 103 kcal/mol &1 HCI 79
& fomfor &1 gof o (T3« gnft:

1. (-) 44 Kcal
2. (-) 11 Kcal
3. () 22Kcal
4. (-) 88 Kcal

Correct Answer :-

. (-)22Kcal

24) If chloroform is left open in air in the presence of sunlight, then it gives: /

gfe FARIGIH & Jd & Yo o1 IufRf & arg & ge s e wrar d At ag dar &:
1. Chloromethane / FARIHA

2. Carbony! chloride / BTIIFT FARTSS

3. Mustard gas / H%CS 19

4. Carbon tetrachloride / BTH CCTAARISS

Correct Answer :-

« Carbonyl chloride /Wa‘fﬁraaaﬁrs’s



25) Kp = K¢ is TRUE for which of the following reactions?/
frafafea 4 3 foa sfufear & gk, = K. T 3?

1.N2(9) + 3Hx9) =2NH3(9)

2.2NOCI(g) = 2NO(g) + Cl(9)
3.H2(9) + C(9) = 2HCI(g)
4. Ha(9) + IDf(s) = 2HI(g)

Correct Answer :-

« Ha(9) + Cl(g) = 2HCI(9)

26) Which among the following compounds does NOT give iodoform test? /
frafafEa el § | SiF-1 smarsiwid uteor = ¢ar 82

1. Acetophenone /Qﬁlaﬁ?_"h:f

2. Ethanal /‘s'QTrT?«r

3. Propan-1-ol / Tu=-1-3ifa

4. Pentan-2-one / e -2-3F

Correct Answer :-

« Propan-1-ol / WUH-1-3fid

27) Which among the following statements is INCORRECT regarding Nylon 6,6? /
frafafea & @ -1 $Y= A 6,6 & WeH # 3 82
1. Nylon 6,6 is a condensation polymer. /
T 6,6 Th T4 95D ¢ |
2. Nylon 6,6 is tough and abrasion resistant. /
AT 6,6 HOR AR THUL-HRIE B
3. Nylon 6,6 is used in the manufacture of carpets, textile fibres, etc. /
AT 6,6 BT ST BIAH, HUST, YR 311fe & fator & fosar Srar g1

4. Nylon 6,6 is an elastomer. / TG 6,6 T TATIT® g |

Correct Answer :-

« Nylon 6,6 is an elastomer. / ATIA 6,6 TH UITRIAP &



Calculate the enthalpv of formation of HI in the given reaction:
Hz + Iz = 2HI AH=2040kcal/mol /
& 315 AT & HI & fAr 1 qof sear (wddedh) 61 o )

H:» + I = 2HI  AH=2040 kcal/mol

1. 20.40 kcal/mol
2. 10.20 kcal/mol
3. (-) 10.20 kcal/mol
4. (-) 20.40 kcal/mol

Correct Answer :-

e 10.20 kcal/mol

29) (Consider the given reaction:

(i) dil NaOH
CH ;CHO —— = A
{ii) NaBH,

Identify the product A./

fATefag 3fefear o @9r &1

{i) dil ¥ aOH

A

CH ;CHO
(ii) NaBH,

/ 3c4TE, ‘A &Y ggdre AT

HsC——CH,—CH,—COOH

1
H3C—ﬁ—CH2—CH2—CDDH
O

HEC—(?H—CHE—CHE—CIH
3. OH



HC——CHy—CH,——CHO

4.

Correct Answer :-

HEC—('T‘H—CHE—CHE—CIH
OH

Find the enthalpv of sublimation ofice from the following data? /
frAfaf@d st & a6 & 3edurder & got FwAr (viled) wF Aa w32

H:0(1) = H20(g) AH=42.75kImol-!

H:0(s) = H:0(1) AH=6.00kJ mol-!

1. 48.75 kJ mol !

2.36.75 kI mol ~ !

3. None of these / SR I Gb\lir 7‘|€[
4,437 kImol ~ 1
Correct Answer :-

« 48.75kJ mol !

Topic:- Botany

1) Name the genes that are involved in turning off or on, the transcription of a set of genes. /

I S BT ATH Fa15d Sl 59 & TP Ue & f[wd- (Siafsh 1) B d¢ a1 a1 H34 A
e g 7

1. Regulatory genes / O\ SfiH
2. Operator genes / TeTA® St

3. Exons/Qaﬂv'Ff
4. Introns/_&i@?‘:{

Correct Answer :-

. Regulatory genes / MITH® SfiF



2) What should be the most important property of a genetic material?/
ATIAIRTE AR BT a8 Agaqul VT AT FHT ATTT?

1. Must have the ability to replicate / Qﬁ?ﬁf ®|"II:| P &HdI Eﬁ:ﬁ E|T%E’|

2. Must be flexible / 79 (FifIdd) BT ATRT|

3. Must be helical / $fdid (gfcied) 81 18T |

4, Must contain purines and pyrimidines /Bﬂﬁtﬁ[ﬁ_ﬂ 3R fafkfafe aﬁ Sl

Correct Answer :-

« Must have the ability to replicate / m I 1 &1 gt TR T

3) Biodegradable plastic that is produced by Methylobacterium is: /

furgaidadiiay ¥ gR IaTed Saf e W s &:
1. Polyhydroxybutyrate / qrciigTs §vd{-lnl @ﬂ\c\ o

2. Polypropylene / PISIEICIESIE

3. Polystyrene / m

4. Dextran / @ERE;F[

Correct Answer :-

« Polyhydroxybutyrate / qﬁ@%&“ﬁ@w

4) cry3A gene encoding protein controls: /
PIg 3A SiE E'Tﬁ'ﬁ'%'ﬂ mdH fFafa s %
1. Colorado potato beetle / HIARTS] &nq@ﬂ cd
2. Corn rootworm / BT &eary

3. Corn borer / ﬁéﬁ?
4. Cotton bollworms / Pl SrdaiH

Correct Answer :-

+ Colorado potato beetle / CARINE] S Sicd

5) The crossing over frequencies between the genes A and B, A and C and B and C are 8%,
15% and 23% respectively. What is the possible sequence of genes on chromosomes? /



S A 3R B, A 3R € T4 B 3R ¢ & 14 fafwa piRiT eitaR) smafxrai vH=T: 8%, 15%
3T 23% & | UREAT R S T HUIAT S H 1 872

1. A, B, C only / 6dd A,B,C
2. Either B, A, C or C, A, B/ 41 dl B,A,C A1 C,A,B
3. B, A, C only / $ad B,A,C
4. A, C,Bonly/$ad A,C,B

Correct Answer :-

« Either B,A,CorC, A, B/l dl B,A,CUTC,A,B

6) The extract of which plant leaf is believed to increase the blood platelet count during
dengue fever? /

fra N Ft =it F 3 B S FTER & R TS Wede P T & fore Suga
HT ST 872

1. Neem / <1

2. Tulasi/_g'(_*ﬁﬂ

3. Papaya/tI'CﬂT‘IT

4, Palm / dlg T UrH

Correct Answer :-

» Papaya/ qdtar

7) The Two-Kingdom classification given by Linnaeus is considered inadequate presently
because of: /

e gRT fog Y f3-sra affevor &1 adam § 3 & SR sroafe 7T ST §:
1. A large number of organisms did not fall into either plants or animals only./
IS T H ofig, 7 g1 el a1 7 8 SiHaR) & Sl 3ird g
2. Not distinguishing photosynthetic and non-photosynthetic plants (fungi) separately only./
P UBTRHTAYD 3R TR-UHT YIATSD Uielf (haeh) & He 7 6 U=
3. Not distinguishing prokaryotic and eukaryotic organisms separately only. /
Had ThDH G AIBRANCH (3R JpRAIfed Siahgdald! sial (|7 4G 7 HR UH
4. All of these/ ijaa gt

Correct Answer :-



« All of these/ SUGeI Ut

8) The pollen of which of the following plants is notorious to cause severe respiratory
problems? /

fFrafafaa 7 3 g MY &1 RET g9 F9eh 7R gawnei & R 9 A SHE1 ST
?

1. Parthenium / tITiﬁ?‘PTq
2. Lantana / @I?'Fﬂ
3. Acacia / PIDHR

4. All of these / T 4t

Correct Answer :-

o Parthenium / tITQT'[ETEI'J:T

9) The term synergistic action of hormones refers to the situation of: /
TR BT Wehhards fobar ug e ot Rufa o) wefifa s 6
1. When two hormones act together but bring about opposite effects. /
OIS &1 SR Teh 1Y B HRd g aifcb1 [Aid UHTd &l gl
2. When two hormones act together and contribute to the same function. /
Od &1 §REM U 1Y BRI B § SR FHH B H eI Hd |
3. When many hormones bring about any one function. /
o9 ¢ gRAM ) T B ) e B

4. When one hormone affects more than one function. / Sid U& g T Udh T 31 Bt B yuHIfad
CGIRH|

Correct Answer :-

« When two hormones act together and contribute to the same function. /

d Gl BRAN U 1Y B B g 3R A BT A JganT Hd o |

10) What happens when the moisture content is reduced by dehydration to prevent
microbial growth in food?/

%ﬁ%m%mmﬁmﬁﬁ&nﬁaq@ﬁﬁﬁﬁﬁﬁwmﬁﬁwwaﬁ

1. Only concentration of solutes in the food increases. /



HIoH ® Sad faeg &1 Gigdl d¢dl g |

2. Concentration of solutes in the food increases and the concentration of water decreases./
Yo # faeid & Arsdl dgd! & 3R oel 1 Higeell gt 8|

3. Concentration of solutes decreases and concentration of water increases./

facrg &t gigar gecdt § 3R 51d &1 Figal dgd ¢

4. Water content remains the same. /

ST &1 HET A gdl 2|

Correct Answer :-

« Concentration of solutes in the food increases and the concentration of water decreases./

o 7 fac o Irgdr sl § 3R 91d &1 JigdT gcadl g

11) Emerson effect is related to the: /
T w1 e & |6l @
1. Increase in quantum yield of photosynthesis in presence of monochromatic light. /

A IAfCH THTRT B IURUT & UHTRI YAl &1 Sied! afed & 3ig |

2. Decrease in quantum yield of photosynthesis when light of two different wavelengths are
provided together. /

O & 3(CT-3MeT diTeed Pt AT U 1Y U ol STt @, I UehT=T RN & HI<H!
Al | AT

3. Decrease in quantum yield of photosynthesis in presence of high light intensity. /

3 UBTY digdl &1 SUTRUTT H UHIRT YAVl &1 BIeH! disd H HH|

4. Increase in quantum vyield of photosynthesis when light of two different wavelengths are provided
together. /

TS a1 -3 dRIeed Dt AT T 1Y U P STl 8, I UhT AXAYT Dt Bl dfe |
giS|

Correct Answer :-

» Increase in quantum yield of photosynthesis when light of two different wavelengths are provided
together. /

T T 3IQT-31ET aTeed B AT T 1Y UG DI St §, 6 FehT JAT &1 HIeHl dfss &
|y



fauTSI® FifRre13M P71 TP faxiv F&ore:

1. Large intercellular spaces / a% SRIBIRID I R
2. Large vacuole / a@f INESEE

3. Thick cell walls / IS PIfRrepT ARl

4, Dense cytoplasm devoid of vacuole / INESEAREEEREAIRCARES

Correct Answer :-

« Dense cytoplasm devoid of vacuole / INESEAREEEREAIRCARES

13) Which one of the following pair of scientists proved the semi-conservative mode of DNA
replication? /

Wﬁﬁ%ﬁwﬁﬁﬁﬁ@ﬁ@wmﬁaﬁ-ﬁmﬁwﬁm

1. Miller and Urey / fleR IRR
2. Meselson and Stahl / J:I*{-IQ'{-I'-I GﬁT %CTG

3. Hugo Devries and Correns / E'Tﬁ R DR
4. Hershey and Chase / 8% 3fR 39

Correct Answer :-

o Meselson and Stahl / J:N-I('i-l'-l G'ﬁT %C\IJﬂ

14) Which of the following ecological pyramid is always upright? /

frafafed # @ s niRufae fifirs sasm Harsiar g2

1. Both pyramid of biomass and energy / AN 3R Sl gl BT fORIHS
2. Pyramid of number / e o fiRifire

3. Pyramid of energy / Sl &1 fURIfs

4. Pyramid of biomass / STIHN &1 fORIfAS

Correct Answer :-

« Pyramid of energy / Sl &1 foRIfirs

15) A primitive sort of sexual reproduction seen in bacteria is termed as .

YT A 3@ W1F 916 TP PR & Afe Us=_ &l CHIRE I
1. Transduction / GIRehHUT



2. Transformation / Y[~ U]

3. Conjugation / W
4. All of these / T gt

Correct Answer :-

 Conjugation / ﬂ'ﬂ'”:l:f

16) Oxidative enzymes in fresh fruits and vegetables use oxygen to: /

aTel wal R wfeerdl # sifqdtsfed torgw fm & forg sifefte 1 Sudi #3d &
1. Keep the fruits and vegetables fresh / Bl 3R fesrdl & arol waq %ﬂ

2. None of these / szlﬁ q ﬁé T'|_6‘:f

3. Metabolize / TATITY HH B (HeTaIAg)

4, Increase the nutrient content of fruits and vegetables/ Bal 3R Ifesrdl ot Ui Il 31
G ©g

Correct Answer :-

« Metabolize / IATHIY B 8 (ACTAIISS)

17) Omnis cellula-e-cellula was proposed by: /

3N AGT-g-Agen o1 37 gRT uferafea fosar mar or:
1. Robert Hooke / J&¢ gh

2. Schleiden / TAS

3. Virchow / faR@3

4. Schwann / I

Correct Answer :-

e Virchow / iaﬁllB

18) In which stage of meiosis do chromosomes appear to have four strands? /
JfgAfaHTS & fohg =0T & U & IR WS s aa @2

1. Pachytene / ®cTUS (ﬁﬁﬁ)

2. Diplotene / fg ug (%'@_Cﬁm

3. Zygotene / EIRUIGIE]



4. Diakinesis / TRITIsh (SIS (T RINT)

Correct Answer :-

+ Pachytene / ¥[cIUS (aﬁ:f)

19) Which one of the following pair in the female gametophyte does NOT have haploid
number of chromosomes? /

ATeT g H fAafefad o @ S19-91 3 TURET @1 SRIOT W@ 81 7@l 82
1. Nucellus and egg / dSH 3R 3feT

2. Nucellus and polar nucleus / CISIEEIR I %[?ﬂq DHah

3. Nucellus and secondary nucleus / dofs® 3R IEGIREY G-t

4. Nucellus and synergids / SIS 3R e PIRGBTY

Correct Answer :-

« Nucellus and secondary nucleus / CISIEEIREEIRS fedla® dad

20) Which of the following pair is a natural fibre? /
fr=fafad # @ S19-91 T T TTefae BrEe 82

1. Rayon and jute/ W 3R v[c

2. Rayon and polyester / 319 3R gifeTgee

3. Jute and silk / S[€ 3R Rew

4. Silk and polyester / e 3R gifieeer

Correct Answer :-

« Jute and silk / 9[C 3R e

21) Which of the following statements is INCORRECT about photorespiration? /
frrafafad # @ F19-91 oY TeRIg Y99 F IR A 82
1. Photorespiration occurs in C5 plants. / UBhTRIg AU C; t?f‘t'ﬁ H Eﬂ?ﬂ %I

2. The first compound formed during C,4 pathway is oxalo acetic acid. /
C, U4 & R A ugen 9iffte siferar-ufifes TS 3|

3. C; plants have Kranz anatomy. / C3 Qe § It Q:ﬂ?ﬁ Eﬁ?‘ﬂ %I

4. C4 plants lack photorespiration. / C4 Tt § TepTRitg 4= &t w4t gt B



Correct Answer :-

+ Cj plants have Kranz anatomy. / C3 e H Tt W\Iﬁﬂ gral %I

22) A DNA has 4000 base pairs. How many turns or helices will be there in that DNA? /
TP ST § 4000 &R T &1 I ST A fFam guma a1 it (Rfrew) grfte

1. 400

2.200

3.20

4. 40

Correct Answer :-

« 400

23) Which of the following is NOT a function of mesosome? /
Frafifas & @ s19-ur e o1 o T8 82

1. Cell wall formation / BIRIebT ffxy T fufur

2. DNA replication / SIG1Y mﬁf

3. Secretion / ¥dld
4, Protein synthesis / Ui v

Correct Answer :-

+ Protein synthesis / I JRAW0T

24) Which among the following organelles is seen in close association with ER? /

frafafea & & $19-91 3@ ER &A1Y e Wy & 3@r a1 82
1. Peroxisome / TR 3T

2. Vacuole / Xg4HT (Rfader)

3. Golgi body / TTTesil &1

4. None of these /Eﬁ@[ﬁﬁéﬂﬁ

Correct Answer :-

. Golgi body / Tiestt BT



25) The ovule which has the micropyle and chalaza at the opposite ends is: /
divris Rrad faafia RRY R fiviser (Fgwiumea) R daevsy (FUFT) 819 8
1. Amphitropous ovule / AJUR| (ﬂ@v—gqm CiSIS

2. None of these / 378 ¥ Bl ol

3. Anatropous ovule / UdTd (TATCIUY) StoliS

Y [

4. Campylotropous ovule / FHTSARITY oIS

~

Correct Answer :-

. Anatropous ovule / Tdid (TATCIUN) SISl

26) Enzymes are biocatalysts and they catalyse biochemical reactions. Which of the following
reactions is NOT catalysed by an enzyme? /

USITSH S9-3aR® & 3R d 99 I~ ufafsears & IdARd od 8 | fFufafad d 9 sia-d@t
wfafsrar T GergH gRT I3 8T gt 82

1. Unwinding of two strands of DNA/ SITY & al %ES DI SIS

2. Dissolution of CO, in water / U H CO, &1 fdged

3. Formation of peptide bond / UPISS 3MaY BT T34
4. Hydrolysis of sucrose / gbisl & BIISITCIRI

Correct Answer :-

« Formation of peptide bond / UPISS 3MaY BT T3

27) Human beings are responsible for the depletion of ozone layer. Which one of the following
substances is NOT responsible for the depletion of ozone layer? /

3o IRd Ft &g & e e rieR 81 e wd & e & fe Fufafa & @ #i9-a1 uerd
forigr =8 32

(o N
1. Carbon tetrachloride / BT ¢l FARTSS
2. Ammonia / =T
3. Chlorofluorocarbons / FIRT TARI W

4. Aerosols / Qiﬂ:na

Correct Answer :-

e« Ammonia / AT

28) The strand of DNA which does NOT code for anything is referred to as ./



ﬁqq;mé?aﬁwm%ﬁa%maﬁgqﬁmaaﬁ & ¥U ¥ Hefila foan
STeT B

1. Intron and extron / Q- QTﬂ 3R U §T~1
2. Template strand / el @3

3. Non-coding strand / A-pIfST @fs’
4. Coding strand / IS @3

Correct Answer :-

« Coding strand / HIET XS

29) Ribosomes are of 70S and 80S types seen in a cell. Which of the following statement is
CORRECT regarding 'S’? /

ISAHIH Th HIRBT A 3@ W11 ardd 70S 3R 80S UHPR & gid &1 FafafRa A A d=-a1's' &
Tay A 981 82

1. ‘S’ stands for sedimentation coefficient unit only. / ‘S’ Had TG IIGE SHTS BT Ucid gl

2. It is a measure of size only. / g FHAd PR B Uh HIY %I
3. It is a measure of the density only. / & $Id g7 BT AT B |
4. All of these / ITgad Tuft

Correct Answer :-

- All of these / SUJad T+t

30) In alternation of generation in plants, a sporophyte alternates with a gametophyte or vice-
versa. Which of the following statements is INCORRECT for a sporophyte? /

qief & Nt & faweu A, ve diwny) g )TRIwEe (THgHsiige) THewRe (A1 39 faudta
& 1y fawadt giar 3 IF=fafea ® § o19-a1 die 3fge )aRiwne (& forerea 82

1. Sporophyte is dominant in Pinus. / UIg"d | apITrlTUl 3fag )Fﬂﬁcﬁr{f M Tdl gl % I

2. Sporophyte is always diploid. /aa\_ﬂTUl 3fda ){‘U\I AH [RC (Bﬂ'-‘ZIT @"Ifalﬁ Eﬁ?ﬂ %I

3. It is always independent and photosynthetic. / g RELUEERES 3R UBTRITATS grar %I
4, It produces spores. /g EﬁTﬂTUl RICE G %

Correct Answer :-

« It is always independent and photosynthetic. / g Eﬂ’-‘fﬂ ddd GﬁT b TR RN G\I(‘II %I

Topic:- Zoology



1) A few toxic pollutants in water undergoes biomagnifications, which means:/
od ® 3 fd ugue S9-3mat= A SR oA ¢, foraet o 3:
1. Increase in concentration of the pollutants as they cannot be recycled /
Teue! Bl Figdr H gfg, i A G =fehd 7€) fbd ST gpa §
2. Increase in concentration of the pollutants as they are not biodegradable /
UGVe! BT Tigdl H e Hifd d SIaHIBRUT Tl o

3. Increase in concentration of the pollutants at successive trophic levels /

ATAR G0l WRI (Sltheh didel) IR UgHD] &1 digdl § gl

A

4. Increase in concentration of the pollutants over time /

TG & 1Y USHH! B igdl & Iia

Correct Answer :-

« Increase in concentration of the pollutants at successive trophic levels /

SR YN0 &R (STthe dael) TR UG i Hisdl H i

~

2) The number of bones in axial skeleton is: /
Jefta oTa ¥ 53l ot TE §:

1. 40

2.20

3.80

4. 60

Correct Answer :-

« 80

3) The first clinical gene therapy was given in 1990 to a girl with SCID disorder, which is
caused due to the deletion of the gene for .

WYY AP (@elifada) s AUt 1990 A sCIp fapR arehl ver asat ) &t 715 <&, =it
SIS ®IgeH & SRUIE 8l

-~

1. Glutamate dehydrogenase / ‘QJ\CIJ-\IC %Glsg\l\ﬂﬂ\ﬂ

2. Monamine oxidase / Iﬁ:ﬁ:ﬂsq ARfres
3. Tyrosine oxidase / TRRIRM Tted




4. Adenosine deaminase / TSR SEARAY

Correct Answer :-

« Adenosine deaminase / TSI SEARAY

4) The embryo with 8 to 16 blastomeres is: /

8 T 16 PRHES (TANICIFAR) Afgd YU giar &:

1. Blastula / sTI_gell
2. Polar body / ?;Eﬂ'q Eap

3. Morula / HR&Ql
4. Trophoblast / CIThISRT

Correct Answer :-

« Morula / A=Al

5) The process of evolution of different species in a given geographical area starting from a
point and diverging to other habitats is called J

ot faw e iifere & ® fafir wenfaat & faery @) uitsar &1 o fig @ 3= A
3R 3= ST § gge B PEISTa gl

1. Divergent evolution / 3R} [ddb™
2. Convergent evolution / IR fahT

3. Genetic drift / Gﬂﬂﬂ% ?If%f
4. Adaptive radiation / W ICIEZY

Correct Answer :-

« Adaptive radiation / 3{Jdell fafbor

6) The extra embryonic membrane in humans that protects and prevents desiccation of the
embryo in the uterus is:/

Agea # rfafyaa Yot freeht wit THfera & yor &1 Yo A THTa 3R YR&T el B
1. Allantois / S{URTUINT

2. Chorion / SRTg (THave)

3. Yolk Sac / Tids e (STcf Ueth)

4. Amnion / 3¢d



Correct Answer :-

e Amnion / 3¢d

7) The letter ‘T’ in T lymphocytes refer to: /

T a1 (R RITgew) | 1 3i&R A &1 defifa sar :
1. Thymus/ YIHA

2. Thrombin/ YR

3. Thrombocytes / YIRS C
4. Tetanus/ feeq

Correct Answer :-

o Thymus/ YIgHH

8) The water vascular system is a unique characteristic possessed by which Phylum? /
I Wdg-l Hurmel! U 3rd! favivar 8 o 39 Iu # urs ol 872

1. Coelenterata / e el

2. Porifera / GIRTRT

3. Echinodermata / Q]K’Iﬂﬁftﬂ SHIZAISHET

4. Hemichordata / %Iﬂm

Correct Answer :-

. Echinodermata / [CTAH! T SHIZAIGHET

9) Name the parasitic worm that causes a slowly developing chronic inflammation of the
organs in which they live for many years, usually the lymphatic vessels of the lower limbs./

I URSiTd! HIH BT 14 Fa13¢ ot 3 # fR-R fawRa g1+ arell Rt gor &1 s
41 ¢ foraH 9 S 9ul 9o, mHaR WR A i & aefiepr arfgeral A 8d B

1. Taenia solium / 31797 Gifcad

2. Ancylostoma / TTIIGTREHT

3. Ascaris lumbricoides / 3?377%?7 g@?ﬂ?@y
4. Wuchereria malayi / WU@E’:

Correct Answer :-



o Wuchereria malayi / W merrg

10) Biological names are given in language. /
S HroT 8 feg e €1

1. Sanskrit / W

2. Greek / Uieb

3. English / SThT

4. Latin / fed

Correct Answer :-

o Latin/ aié:i

11) Chondrocytes are found in: /
SUTRYDIRISTY o TS el €1
1. Blood / Xpd

2. Epithelial tissue/ 3Uh I HdP

3. Nervous tissue/ AT SHad

4, Cartilage / IUTRY

Correct Answer :-

« Cartilage / IUTRY

12) Which of the following is an autoimmune disease? /
frufafea 3 @ o v wufrféa e

1. Sickle cell anaemia / RIH A @?f Q:ﬂ'&ltﬂ

2. Cretinism / 3{dgdTHAdI

[al

3. Rheumatic fever / ATd SaR (FFHICH HIaR)

4. Malaria / o

Correct Answer :-

« Rheumatic fever / dld wd¥ (Fﬁ% tlﬁ?ﬂ)

13) Which of the following is a microelement? /



faffead I s s g aa @
1. Copper/ didl

2. Potassium/ TICRIAH

3. Calcium/ HTeRITH

4. Magnesium/ iR

Correct Answer :-

« Copper/ didT

14) Which of the following does NOT have a serous lining outside? /
fFrafafEa & 3 frad aredt Wi e a1 ara sReR T g @2
1. Large intestine / ae"r 3ifd

2. Small intestine / BICT 31

3. Oesophagus / UTH Bl

4. Stomach / STHIRIY

Correct Answer :-

« Oesophagus / YT It

15) Melatonin hormone is released by gland. /

AaeifF g RS grigfad siar g

1. Pituitary / UIg¥ (fUreeh)
2. Thyroid / YTURIS S
3. Pineal / Ui

4. Adrenal / W(nga)

Correct Answer :-

« Pineal / UITd

16) Power of accommodation of the eye is achieved due to: /
3G BT FHA a1 Y9 & SR U gl 8:

1. Ciliary muscles / gerTiiyent URMt a1 ffersr wivufRml

2. Cornea / HI-AT



3. Conjunctiva / R[CISHAT

4. Choroid layer / Yddd URd

Correct Answer :-

+ Ciliary muscles / gt Ui a1 Riferert giauflRml

17) Inflammation of joints due to accumulation of uricacidcauses __ ./
PNRE RS F I FPRUNSI SIS BT SR a4 B

1. Arthritis / T2 I7 T =M (meRTaes)

2. Osteoporosis / G@lﬁﬁR—(ﬂ T SHTRCIATIRIR

3. Gout / dTd INT (TMHT)

4. Tetany / {UATHT (Ce-)

Correct Answer :-

. Gout / dTd I (MSH<e)

18) Ptyalin in saliva is inactivated by: /
9 & gR1 AR # erardq FAfeea fear s g:
1. Mucus / dTTH T hh

2. Bile / fO

3. Rennin / XA

4. HC1/ QER:“QFI
Correct Answer :-

. HCl/TIEUd

19) Ramu was observing the slide of muscle tissue. The character he observed were
striation and multinucleated. What type of muscle did he observe?

| X, Ut Sde BTSS! B M H | AT I &) AT 3@ 98 WA iR TgPbafdpd Ul
IeiA 5T UHR 3 Uit &1 Nervr faar?

1. Skeletal muscle/ HpTd UM
2. Cardiac muscle / gad CAR R
3. Smooth muscle/ It Ut
4. Ligaments / JRISYT



Correct Answer :-

« Skeletal muscle/ PdHTA eI'Slﬁ

20) The filtration slits are formed in the Bowman'’s capsule by: /
fraie few 9 & gRT 9iva wge § 594 §:
1. Henle loop / %'1(-‘\1 a1 (%—181 [S¢))

2. Glomerular blood vessel / THSTR I dIfghl

3. Podocytes / UalU] (@I@ﬂﬁ?\ﬂ)
4. Nerve endings / GIECARGREN]

Correct Answer :-

« Podocytes / UqIU] (@I@ﬂﬁ?\ﬂ)

21) Which of the following statements is CORRECT regarding ageing? /
fFrafafag & @ #19-a1 Y7 qaigfS (i) & IR & 98t 82

1. Increase in Ca content of arteries and cartilage / et SR IUTRY & Ca AR H Q'@
2. Decrease in creatine / ﬁmﬁ:{ H HH!

3. Cholesterol increases / PRI § odl % I

4. Sugar in blood increases / Xdtdl ff EZId?NI d(;_‘:(‘lﬁl %I

Correct Answer :-

+ Increase in Ca content of arteries and cartilage / YT SR IUTRY & Ca AR H Q'@

22) Down’s syndrome is caused due to: /

sT3+ Rigi 9 & ST ghar &:

1. Trisomy of 13 chromosome / 13 Waﬁ ‘gl%?ﬁtﬁ
2. Trisomy of 18 chromosome / 18 Wﬁ E'B@Tﬁ
3. Trisomy of 16 chromosome / 16 Wﬁ Ej%?htﬁ
4. Trisomy of 21 chromosome / 21 TUREAT I CISEH

Correct Answer :-

« Trisomy of 21 chromosome / 21 TURE &I CIIAH!



23) Which of the following creatures is called the first human like being (hominid)? /

fFrafafaa & 9 f5g ft & ara Sa1 ygar uft (@ifufas) e s 82
1. Neanderthal man / FTUERYd 89

2. Homo habilis / E1H} 813/cre

3. Homo sapiens/ 141 Q19G~7

4. Homo erctus/ E151 3T

Correct Answer :-

o Homo habilis / 5’?@??7%7%?7

24) Which of the following is an example of sesamoid bone? /
Frafafaa & @ o191 sy (adfeeT 3ifRy) &1 @ Irevr 82
1. Ear lobe/Wm@Tm

2. Knee cap / Eikcay

3. Intervertebral disc / 3{RTHRISH fod (saa%‘aa %W)

4, Vertebrae / W

Correct Answer :-

« Knee cap /&y

25) Which of the following features of cartilaginous fishes is absent in bony fishes?/

Frafafag & @ SufRgR wafemr (Fifidafmy fikrn ot F19-0 fatvar sSier wofemt (aiFt
fpmr) ¥ srgufRa 8t 22

1. Viviparous / SIRTYu
2. Gills/ TS

3. Stream lined body / W'@‘R‘f IRR
4. Poikilothermic / faSHdTdl

Correct Answer :-

+ Viviparous / SIRTYql

26) An important feature of cloning vector, responsible for controlling the copy number of linked
DNA is ./

FAIT dFex DI TH Heaqul fa=ivar Tidl 3 ot 9 a1 fRfgs St ) ufafefy = #
frifa w1 & fore SwRer 31



1. ‘ori’ / *3MRI

2. cloning site/ FAIT Age

3. promoter / AR

4. selectable marker / TG99 B Y ATHR (JAdedd HIHR)
Correct Answer :-

. ‘ori’/ 3R

27) The characteristic demographic features of the developed countries are:/
fawfira 3= ¥t faldy Sewiferety faRivan &

1. High fertility rate, high per capita income, better living standards/

3 U &, 3 Ufd fad 311, 98X sifgd &R
2. High mortality rate, rapid population growth, very young age distribution/
I GG &R, SN J ST gfS, 9gd HH Y T faaRun

3. Low fertility rate, high per capita income, better living standards /

HH Yo &, I Ufd Afad 311, 9gaR Siigd &R

4. High fertility, rapid fa lling mortality rate, rapid population growth /
I Yo &I, doil ¥ R 7o @), dsil § S gis

Correct Answer :-

« Low fertility rate, high per capita income, better living standards /

HH Yo &, I Ufd Afad 311, 9gaR oiigd TR

28) The part of human foetus that represents the primitive gut is:/
HTHG YUT o1 ag fewar ot enfew sriq (fftfea we) =1 ufafifire wwar @:
1. Blastocoel / SIRCIDIA

2. Archenteron / 3T (S‘IW:D

3. Gastrocoel / Wﬂ

4. Blastopore / ®R&E (SARSIUR)

Correct Answer :-

« Archenteron / 3T (\H]W:D



29) The science that deals with various aspects of ageing is called ./
39 de1 & fafira vggen I Hafta fag &t Hel oTal 3|

1. Gerontology / SRIFeIarsit

2. Paleontology / Taielaroit

3. Ecology / S®Iqisit
4. Physiology / foforarareh

Correct Answer :-

» Gerontology / SRIeraron

30) The drugs that are known for their effect on the cardiovascular system in the body are:/
TRR & g5 YuIelt UR 39 YT & g 9t o arelt siwfRr §:

1. Opioids / 3NTUTIEH

2. Amphetamines / Qﬁ%&ﬂ

3. Cannabinoids / W@:—S’

4. Barbiturates / aﬁ@?ﬂ

Correct Answer :-

« Cannabinoids / %qlla:ilig

Topic:- General English

1) Choose the appropriate prepositions for the given sentence:

He died heart failure Tuesday night.

1. to, at
2. to, by
3. from, on

4, for, in

Correct Answer :-

2) Choose the correct word for the given sentence:



If you go walking around the factory, ensure you wear clothing.

1. protecting
2. protective
3. protectly
4, protected

Correct Answer :-

 protective

3) Choose the option that best transforms the given sentence into its active voice:

What is wanted by Ram?

1. Is something wanted by Ram?
2. What Ram wanted something?
3. What does Ram want?

4, What wants do Ram has?

Correct Answer :-

« What does Ram want?

4) What is the opposite meaning of REPROVE?
1. Admonish

2. Compliment

3. Observe

4, Chide

Correct Answer :-

« Compliment

5) Choose the appropriate articles for the given sentence :

All _ employees felt that  new office premises was more spacious than previous
office space.

1.the, a, a



2. the, the, an
3. the, a, an
4. the, the, the

Correct Answer :-

« the, the, the

6) Choose the appropriate articles for the given sentence:

Keeping  petcanincrease __ person's emotional well-being.
1.a,an

2. the, a

3. an, the

4.a,a

Correct Answer :-

7) Choose the appropriate determiners for the given sentence:

Do you have ____ flour to bake a cake or should I go and get ___ from the market?
1. enough, some

2. enough, few

3. some, some

4. any, some

Correct Answer :-

« enough, some

8) Choose the appropriate determiners for the given sentence:

I was at a party with of my friends where the music was good and the dishes were
appetizing and so the guests did not have to eat.

1. most, all, few



2. some, all, enough
3. all, all, some
4. few, much, enough

Correct Answer :-

« some, all, enough

9) Choose the appropriate prepositions for the given sentence:

What  taking theday  and spending it by the seaside?
1. by, off

2. about, off

3.1n, of

4, on, off

Correct Answer :-

« about, off

10) Choose the option that best transforms the given sentence into its passive form:
The enemy country was not following the path of peace.

1. The path of peace had been followed by the enemy country.

2. The path of peace was not being followed.

3. The path of peace was not being followed by the enemy country.

4. Path of peace is not being followed by the enemy country.

Correct Answer :-

« The path of peace was not being followed by the enemy country.

11) Choose the option that best transforms the given sentence into its positive degree:
Forgiveness is the noblest form of revenge.

1. Few forms of revenge are as noble as forgiveness.

2. No other form of revenge is as noble as forgiveness.

3. All forms of revenge are not so nobler than forgiveness.



4, Of all forms of revenge, forgiveness is nobler.

Correct Answer :-

« No other form of revenge is as noble as forgiveness.

12) Choose the idiom that best fits into the given sentence:
My friend’s a straight forward man who believes in

1. loving his enemy

2. drives the last nail into the coffin

3. calling a spade a spade

4, fighting tooth and nail

Correct Answer :-

« calling a spade a spade

13) Choose the suffix that best fits in the given the sentence:
That medical treat  really helped my skin problem.

1. -ment

2. -ed

3. -ables

4. -ing

Correct Answer :-

14) Choose the correct form of tense to complete the sentence:

Don’t take away her toy, she
1. has cried
2. 1s crying
3. had cried

4. is about to cry

Correct Answer :-



« is about to cry

15) Choose the correct form of modal auxiliary verb for the given sentence:

If it's snowing, it very cold.
1. must have

2. must be

3. should had

4. should have been

Correct Answer :-
e must be

16) Choose the correct form of modal auxiliary verb for the given sentence:

I ___ have gone town if my flight was not cancelled.
1. must

2. might

3. may

4. can

Correct Answer :-

« might

17) Choose the correct form of phrasal verb for the given sentence:

the expression on his face, I would say he wasn't very pleased.
1. seeing as
2. going by
3. Judging by

4. as for



Correct Answer :-

« Judging by

18) Out of the following options, identify the sentence with a grammatical error.
1. I could not visit Agra Fort last weekend.

2. I visited Agra Fort last weekend.

3. My visit to Agra Fort last weekend was great fun.

4, ] am visited Agra Fort last weekend.

Correct Answer :-

« [ am visited Agra Fort last weekend.

19) Out of the following options, identify the sentence with a spelling error.
1. Smanatha took a long swig of the beer jar and inhaled hard.

2. He cannot run hard enough, as he is getting old and feeble.

3. He seemed totally absent mentally and looked vacantly out of the window.

4. He inadverantly opened the swing door too hard and hit the woman on the other side.

Correct Answer :-

« He inadverantly opened the swing door too hard and hit the woman on the other side.
20) Which of the following is a simple sentence?

1. The stolen artifacts have been recovered.

2. What’s the use of crying when the cat has drunk all the milk?

3. We are glad that the police have done a good job.

4. If you jump the queue, I think that’s not done.

Correct Answer :-

o The stolen artifacts have been recovered.

21) Choose the appropriate prepositions for the given sentence:

He's always __a bad temper ___ breakfast time.



1. to, at
2.to, in
3.0n, in
4.in, at

Correct Answer :-
e in, at
22) Choose the correct form of verb for the given sentence:

Researchers that people who more of the left side of their brain tend to be more
intelligent.

1. believe ... use

2. contradict ... preserve
3. argue ... consume

4. advocate ... expend

Correct Answer :-

o believe ... use

23) Choose the correct form of verb that is in agreement with the subject for
the given sentence:

either of the two candidates who had come for the interview been selected?
1. Have
2. Is
3. Are

4, Has

Correct Answer :-
« Has

24) Choose the correct form of verb that is in agreement with the subject for
the given sentence:

in the corridor is very old.

1. The furniture



2. The furnitures
3. An furnitures

4. A furniture

Correct Answer :-
o The furniture

25) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

Which of the following issues is NOT mentioned in the given passage?

1. Sati

2. Honour Killings

3. Gender Disparity
4. Female Infanticide

Correct Answer :-

« Sati

26) Choose the correct form of phrasal verb for the given sentence:
your hand if you want to answer the question.

1. Keep up

2. Put out

3. keep out

4. Putup

Correct Answer :-

27) Choose the option that best transforms the given sentence into its superlative degree:



James is intelligent boy in the class.

1. No other boy in the class is as intelligent as James.
2. James is more intelligent than any other boy in the class.
3. James is not as intelligent boy in the class.

4, James is the most intelligent boy in the class.

Correct Answer :-

« James is the most intelligent boy in the class.

28) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the opposite of the word ‘Valour'?

1. Kindness
2. Cleverness
3. Cowardice

4. Bravery

Correct Answer :-

o Cowardice

29) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

According to the passage, which gender’s position is being debated?



1. Neutral
2. Male
3. Transgender

4. Female

Correct Answer :-

o Female

30) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, Honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the meaning of the word ‘Tarnish’ in the given passage?

1. Say something that damages someone's reputation or image
2. Say something that smears someone's reputation

3. Say something that protects someone's reputation

4. Say something that improves someone's reputation

Correct Answer :-

« Say something that damages someone's reputation or image



